4>

VACGEN

Assembly Guide
HST/PBN Filament AS0037

VGS03-02T37

Copyright Notice 2002 by VACGEN. All rights reserved. Information contained in this
handbook is subject to change without notice and does not represent a commit-
ment on the part of VACGEN. No part of this document may be copied or distributed,
transmitted, transcribed, stored in a retrieval system or translated into any human or
computer language, in any form or by any means, electronic, mechanical, magnetic,
optical, manual or otherwise or disclosed to third parties without the express written
permission of VACGEN LTD, Unit A, Swallow Business Park, Diamond Drive, Lower
Dicker, Hailsham, East Sussex, BN27 4EL, UK.

Helping you make the next leap forward

www.vacgen.com



N

-

<|||

DISCLAIMER

This Assembly Guide should be used in conjunction with the owner’s manual where
available, and is intended as a guide only as there maybe variations between versions and
therefore must be used at the Owner’s Risk. For more detailed assistance, please contact
our Support desk +44 (0) 1323 379 335 or support@vacgen.com.

HEALTH AND SAFETY

All repairs and services should be carried out by a qualified engineer, using the correct
tools and procedures to carry out the repair. VACGEN are not liable for any errors within
the assembly guides which may cause inconsistencies during repair.

The Goods, especially chemicals, may be dangerous if not properly used or stored and the
appropriate precautions taken. The Customer accordingly agrees that it shall take all

such steps as are reasonably practicable or usual to eliminate or reduce any risk to health
and/or safety to which use of the Goods may give rise and acknowledges that where the
Goods are manufactured to a design supplied by the Customer, the Company will not
undertake any research as to the risks to health and/or safety which may arise from use

or storage of the Goods. Where the Goods are manufactured to a design supplied by the
Customer, the Customer shall comply with all the duties which may be implied at law on a
designer and/or manufacturer of the Goods.

Revision Date Comment Initials
1 31/03/2020 New Document DM
2
3

Unit A, Swallow Business Park
Diamond Drive, Lower Dicker
Hailsham, East Sussex
BN27 4EL, UK

sales@vacgen.com www.vacgen.com +44 (0) 1323 379 379



|||“:>

Assembly Information HST/PBN Filament

There are two different setups, one with Sapphire Balls and one with ceramic spacers.

Place the Heater Assembly over a tray with a cloth when taking apart, so not to lose the
Sapphire Balls etc.

0.

. Lift off the Thermocouple and remove the Heater Connections by undoing the M2

nuts.
With the heater supported, place finger on sample plate and undo the two M2 counter
sunk screws in the ceramic cups. The WHOLE assembly will be free, so take care.

. With finger place on the sample plate and gripping Filament Tray, remove the

assembly, leaving the 3 Radiation Shields and 4 Sapphire Balls on the Back Plate.

NOTE: The version without sapphire balls has two ceramic spacers which supports the
tray.

With the Heater Assembly on the table, carefully remove the sample plate to reveal the
Filament, or element in the PBN version. Note: There are two setup versions of the PBN.
Undo the Terminal Post and lift out the Filament or PBN Element.

NOTE: The wire filament will become very brittle once heated and is easily broken.
NOTE: Under the heater element is a plain plate, make sure this is refitted.

NOTE: On the older Heaters, the Filament Wires are spot welded to Paddles and then
mounted on the Filament Post.

Refit Plate under the heater ceramics.

WIRE: Fit the new Filament, noting it is like a coiled spring at this stage, so take care.
NOTE: The new version does not have these Paddles, so just wrap the Filament Wire
around the post once, do not cross the wire. NOTE: Make sure the wires that go to the
filament posts, do not touch the tray cut outs and short.

Fit the loose End Spacer Ceramics Tube into the tray section.

10.PBN: Fit as removed
11.Carefully fit Sample Plate onto tray. It does not matter if it touches the tray.

sales@vacgen.com www.vacgen.com +44 (0) 1323 379 379

3



¢

12. NOTE: Wrap a Copper Wire (No more than 0.5mm) around the Tray and Sample Plate,
which will hold it together and makes it easier to assembly.

13.Lay Heater Assembly on Sapphires and make sure it's square and refit screws.
NOTE: the one without Sapphire balls, fit the two spacers.

14.When refitting Heater Lead Nuts, make sure the screw does not twist.

15.0nce you are sure it is fitted correctly, cut the Copper Wire holding the heater together.

Recommended new parts:

Resistive Wire Heater ZHSTFIL Filament & ZHSTCSSK Ceramic Kit
For PBN, contact VACGEN

HST

3 amps Maximum / 2.75 amps continuous @ 30 volts / 900°c continuous running /
1 ohm

PBN

3 amps Maximum / 2.75 amps continuous @ 60 volts / 900°c continuous running /
150hm

sales@vacgen.com www.vacgen.com +44 (0) 1323 379 379



sales@vacgen.com

154

Sample Clip

ol Woshar

SCREW CSK MZX14

$

SCREW NOLY PAN HO M2x10

HST Heater Ploiien Assy

Insulator — 13 lang

INSULATOR 4mm SINGLE BORE

Aszzembly Notes:

Inzulator = 14 long

i. Emdure lsaulating rods ore free o mowe

Heoter 'Winding Assy.

2. Erpare Aodiclon shidid ace free be v bl are

Heater Support Plote

A T = o el e e e e e g e e e

Bl | GRS B B N B LS R e o el B B el e () st SR L)

S A AR, i Sy el s Pt CERANIC_BUUSH Di3708A
ettt Mt Lo HST Heater Tray Assy.
CERAMIC BUSH B227TL
Spacial woshar
Spocer
BALL SAPPHIRE 3732
7 |Quter Rediation Sheild
6§ |Intermediote Rod. Shield
5 |inner Rodiotion Shield
Test Motes: 4 |WASHER MOLYBDENUM M2
1. Check Rgment costingly <1 of 2T 3 |Bachkplote
i leaulatio resialence madl be greater thet OO of 2 |Spocer
500 O telewss Romsst ond specimen picte ot
1 |NUT FULL MOLYBDENUM M2
|TEHDESCRIF‘TIUN ary

SAMPLE CUP CAM BE USED TO
SECURE THERMOCOUPLE

NOTES

ASSEMBLY:

1, ENSURE RADWION SMIELDS ARE FREE TO MOVE BUT
WABLE 10 WEATER TRAY.

2. AFER TESTING, SECURE ASSEMALY TOGETHER USING

PAPER TAPE O WIRE DETWEEM SAMPLE CLIPS,

TEST:

3, CHECK WEATER COMTINUITY PER MEATER DRAWNG.

4, INSULATION RESISTANCE WUST BE GREATER THAT
20M0 AT S00v OC BETWEEN THE HEATER AND PLATTERM
ASSY PLUS MEATER AND HEATER TRAY ASSY.

www.vacgen.com

27 Isﬂ:cw. WASHER

23| WASHER MOLYBDENUM M2

26 |CERMNC BUSH B237TL

26 |SCREW MOLY PAN WD u202

F?

23 |BUIZ BARS, PEM
2

NUT MOLY. M1

21

val b o mafme] o fsa fme

20

9

BOLT WOLY, W1

WASHER GRAPHMITE, PEN

[

PEN WEATER

18

SAMPLE CUP

[0

SPECUL SCREW

i

SCREW PAN WIX1E

13

12 |WEATER PLATTERN ASSY. PBN

n
10

»

,H_”

INSULATING ROD

CERAMIC BUSH DAITOMA
HEATER TRAY ASSY., PEN
SPACTR

BALL SaPPHRE 3,32
TUTER_RADATION SHIELD
TERMEDIATE_RAD. SHELD
TINER_RADIATION SHIELD
BACKPLATE

SPACER

m.a___l_..,_.1.,_..”.._,..

WT FULL WOLYEOEWUM M2

ITEM

DESCRIPTION ary

+44 (0) 1323 379 379

5



